Statistics Formula — Sheet 1

Counting Rules

0<P(X)<1 & ZP(x) =1
P(A and B) = P(A)P(B|A)

If And B are independent.
P(Aand B) = P(A) - P(B)
P(A°) =1-P(4)

Mean & Standard Deviation
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Probability Probability Distribution
H= Z xp(x)

0=\/2x2-P(x)—y2

Bayes'Formula

Chebyshev's Theorem

P(B|A;)P(4;
pads) = - BIADPEA)
=1 P(Bl4;)P(4)
Bayes'Formula — Two — Event Case

P(A&B) _ P(B|A)P(A)
P(B) ~ P(B|A)P(A) + P(B|A°)P(A°)

P(AIB) =

P(Ix—,u|<ka)21—ki2 where k > 0

or

1
P(|lx — u| = ko) Sﬁ

Coefficient of Variation

o
CV =—-100%
U

Expected Value

Variance = Cov(X,X) = V(x)

(Probability Distributions)

E®) = ) x-p(@)

E(x) = .[x-f(x)dx (Contineous Distributions)

V(x) = 0% = E(x?) — E(x)? = E(x?) — u?

Central Limit Theorem

Covariance

Cov(X,Y) = E(XY) — E(X)E(Y)

o
x~N(u,o0) or n=30 = JZ~N< ,—)
(w,0) 7 N
Test Statistics (One Population)

by =y — byx

Linear Correlation
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Regression n
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= = =r= ean — Mode
1TSS, n¥x?—(Tx)? Sx S, = D (Karl Pearson)

If mode doesn’t exist,
B 3(Mean — Median)

k= SD
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